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	Reason for change:
	In the current TTCN implementation of this testcase, at Step 5 the EAP message (Identity) is sent with ID set to ‘00’O by the SS.  The UE responds with an EAP-Response (Identity), with ID as ‘00’O at Step 6.

Now at Step 7, the SS transmits the EAP-request with an incorrect sequence number, but the ID is still set to ‘00’O.

This is incorrect.

According to RFC 3748 cl 4.1,

Quote

If a peer receives a valid duplicate Request for which it has already sent a Response, it MUST resend its original Response without reprocessing the Request. 

Unquote
Thus, when the UE receives the EAP message in Step 7 with ID set to ‘00’O, it retransmits the EAP-Response(Identity) that was sent in Step 6. This causes testcase failure

The RFC 3748 cl 4.1 further specifies :

Quote

In order to avoid confusion between new Requests and retransmissions, the Identifier value chosen for each new Request need only be different from the previous Request, but need not be unique within the conversation.
Unquote

Thus, the ID in the EAP-request message at Step 7 should be different from the one that was sent in Step 5.

This needs to be corrected.

Similarly, the ID in the EAP-request in Step 9 should be different from the one that was sent in Step 7. 


	
	

	Summary of change:
	Added a new parameter p_incrementID to function f_NG_EAP_ChallengeReq with default set to OMIT. When this function is called at Step 7, passed ‘01’O as a value for p_incrementID.

Added a new parameter p_incrementID to function f_Check_EAP_SyncFailure_AuthenticationResponse with default set to OMIT. When this function is called at Step 8 to check the response, passed ‘01’O as a value for p_incrementID.

Since fucntion f_Check_EAP_SyncFailure_AuthenticationResponse( f_NG_EAP_SyncFailureResponse( cr_EAP_Response_SyncFailure is called at Step 8 , added the parameter p_incrementID to function f_NG_EAP_SyncFailureResponse  and template cr_EAP_Response_SyncFailure .
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Corrections required

1.1 function fl_TC_9_1_1_1_TestBody()
	Function name
	f_TC_8_1_3_1_11_NR5GC

	Reason for change
	In the current TTCN implementation of this testcase, at Step 5 the EAP message (Identity) is sent with ID set to ‘00’O by the SS.  The UE responds with an EAP-Response (Identity), with ID as ‘00’O at Step 6.

Now at Step 7, the SS transmits the EAP-request with an incorrect sequence number, but the ID is still set to ‘00’O.

This is incorrect.

According to RFC 3748 cl 4.1,

Quote

If a peer receives a valid duplicate Request for which it has already sent a Response, it MUST resend its original Response without reprocessing the Request. 

Unquote
Thus, when the UE receives the EAP message in Step 7 with ID set to ‘00’O, it retransmits the EAP-Response(Identity) that was sent in Step 6. This causes testcase failure

The RFC 3748 cl 4.1 further specifies :

Quote

In order to avoid confusion between new Requests and retransmissions, the Identifier value chosen for each new Request need only be different from the previous Request, but need not be unique within the conversation.
Unquote

Thus, the ID in the EAP-request message at Step 7 should be different from the one that was sent in Step 5.

This needs to be corrected.



	Summary of change
	Added a new parameter p_incrementID to function f_NG_EAP_ChallengeReq with default set to OMIT. When this function is called at Step 7, passed ‘01’O as a value for p_incrementID.

Added a new parameter p_incrementID to function f_Check_EAP_SyncFailure_AuthenticationResponse with default set to OMIT. When this function is called at Step 8 to check the response, passed ‘01’O as a value for p_incrementID.

Since fucntion f_Check_EAP_SyncFailure_AuthenticationResponse( f_NG_EAP_SyncFailureResponse( cr_EAP_Response_SyncFailure is called at Step 8 , added the parameter p_incrementID to function f_NG_EAP_SyncFailureResponse  and template cr_EAP_Response_SyncFailure .

 Please see below

	TTCN module
	NR5GC/9_1_1/Authentication_NR5GC.ttcn

	MCC160 Comment
	


Before Change:

	<SKIPPED CODE>>
//@siclog "Step 7" siclog@
    // start with the correct parameters, then change the AUTN
    v_NAS_IncorrectSecurityParams := v_NAS_SecurityParams;
    v_AUTNSQN := substr(v_NAS_IncorrectSecurityParams.AuthParams.AUTN, 0, 48);
    v_AUTNSQN := v_AUTNSQN xor4b '111'B;
   // v_NAS_IncorrectSecurityParams.AuthParams.AUTN := v_AUTNSQN & substr(v_NAS_IncorrectSecurityParams.AuthParams.AUTN, 48, 80);
    v_NAS_IncorrectSecurityParams := f_NG_EAP_AuthenticationInit(v_NAS_IncorrectSecurityParams, v_PLMN, hex2str(px_IMSI_Def), -, sqnFailure); // @sic R5s201021 sic@
    SRB.send(cas_NR_SRB_NasPdu_REQ(v_NGC_NASCellA,
                                   tsc_NR_RbId_SRB1,
                                   -,
                                   cs_NG_NAS_Request(tsc_SHT_IntegrityProtected_Ciphered,
                                                     f_Get_EAP_OtherAuthenticationReqMsg(v_NAS_IncorrectSecurityParams, v_PLMN, f_NG_EAP_ChallengeReq (v_NAS_IncorrectSecurityParams, v_PLMN)))));
    //@siclog "Step 8" siclog@
    SRB.receive(car_NR_SRB_NasPdu_IND(v_NGC_NASCellA, tsc_NR_RbId_SRB1, cr_NG_NAS_Ind(tsc_SHT_IntegrityProtected_Ciphered))) -> value v_ReceivedAsp;
    if (f_Check_EAP_SyncFailure_AuthenticationResponse(v_ReceivedAsp.Signalling.Nas[0].Pdu.Msg)) {
      f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 8");
    }
    //@siclog "Steps 9-10" siclog@
<SKIPPED CODE>>

	


After Change:

	<SKIPPED CODE>>

//@siclog "Step 7" siclog@
    // start with the correct parameters, then change the AUTN
    v_NAS_IncorrectSecurityParams := v_NAS_SecurityParams;
    v_AUTNSQN := substr(v_NAS_IncorrectSecurityParams.AuthParams.AUTN, 0, 48);
    v_AUTNSQN := v_AUTNSQN xor4b '111'B;
   // v_NAS_IncorrectSecurityParams.AuthParams.AUTN := v_AUTNSQN & substr(v_NAS_IncorrectSecurityParams.AuthParams.AUTN, 48, 80);
    v_NAS_IncorrectSecurityParams := f_NG_EAP_AuthenticationInit(v_NAS_IncorrectSecurityParams, v_PLMN, hex2str(px_IMSI_Def), -, sqnFailure); // @sic R5s201021 sic@
    SRB.send(cas_NR_SRB_NasPdu_REQ(v_NGC_NASCellA,
                                   tsc_NR_RbId_SRB1,
                                   -,
                                   cs_NG_NAS_Request(tsc_SHT_IntegrityProtected_Ciphered,
                                                     f_Get_EAP_OtherAuthenticationReqMsg(v_NAS_IncorrectSecurityParams, v_PLMN, f_NG_EAP_ChallengeReq (v_NAS_IncorrectSecurityParams, v_PLMN, '01'O /*WA#9_1_1_1*/)))));
    //@siclog "Step 8" siclog@
    SRB.receive(car_NR_SRB_NasPdu_IND(v_NGC_NASCellA, tsc_NR_RbId_SRB1, cr_NG_NAS_Ind(tsc_SHT_IntegrityProtected_Ciphered))) -> value v_ReceivedAsp;
    if (f_Check_EAP_SyncFailure_AuthenticationResponse(v_ReceivedAsp.Signalling.Nas[0].Pdu.Msg, '01'O /*WA#9_1_1_1*/)) {
      f_NR_PreliminaryPass(__FILE__, __LINE__, "Step 8");
    }
    //@siclog "Steps 9-10" siclog@
<SKIPPED CODE>>


1.2 function f_NG_EAP_ChallengeReq
	Function name
	f_NG_EAP_ChallengeReq

	Reason for change
	Please see change 1.1

	Summary of change
	Introduced a check in the function bodyto check if the parameter p_incrementID is present, and based on that the assigned the ID in the aka_ChallengeReq.
Also, instead of enclding and returning the template cs_EAP_Request_AKAChallenge, returned the variable v_EAP_Message which contains the same thing but also contains the updated aka_ChallengeReq (with ID).

Please see below.

	TTCN module
	Common/NG_NAS/NG_NAS_SecurityFunctions.ttcn

	MCC160 Comment
	


Before Change:

	function f_NG_EAP_ChallengeReq(NG_NAS_SecurityParams_Type p_Auth_Params,
                                 NAS_PlmnId p_PLMN)
    return octetstring
  {
    var template (value) EAP_AT_RAND v_RAND;
    var template (value) EAP_AT_AUTN v_AUTN;  // @sic R5s200400 sic@
    var template (value) EAP_AT_KDF v_KDF;
    var template (value) EAP_AT_KDF_INPUT v_KDF_INPUT;
    var template (value) EAP_AT_MAC v_MAC;
    var O16_Type v_MACValue := '00000000000000000000000000000000'O;
    var bitstring v_K_aut;
    var template (value) EAP_Message_Type v_EAP_Message;
    var integer v_Msglen := 8; // @sic R5s200400 sic@
    var octetstring v_NetworkName := fl_GetServingNetworkName (p_PLMN);
    var bitstring v_EncodedMsg;
    var integer v_Len;
    var integer v_Paddinglen;
    var integer i;
    v_RAND := cs_EAP_AT_RAND (bit2oct(p_Auth_Params.AuthParams.RandValue));
    v_Msglen := v_Msglen + 5*4;
    v_AUTN := cs_EAP_AT_AUTN (bit2oct(p_Auth_Params.AuthParams.AUTN));
    v_Msglen := v_Msglen + 5*4;
    v_KDF := cs_EAP_AT_KDF;
    v_Msglen := v_Msglen + 4;
    v_Len := lengthof(v_NetworkName);
    if (v_Len mod 4 > 0) {
      v_Paddinglen := 4 - v_Len mod 4;
      for (i:=0; i < v_Paddinglen; i:=i+1) {
        v_NetworkName := v_NetworkName & '00'O;
      }
    }
    v_KDF_INPUT := cs_EAP_AT_KDF_INPUT (v_NetworkName, int2oct(v_Len, 2));
    v_Msglen := v_Msglen + lengthof(v_NetworkName) + 4;
    v_MAC := cs_EAP_AT_MAC (v_MACValue);
    v_Msglen := v_Msglen + 5*4;
    // Build the message with MAC=0
    v_EAP_Message := cs_EAP_Request_AKAChallenge(int2oct(v_Msglen, 2),
                                                 v_RAND, v_AUTN, v_KDF,
                                                 v_KDF_INPUT, v_MAC);
    // Compute MAC according to RFC 5448 cl. 3.4.2
    v_EncodedMsg := encvalue(v_EAP_Message);
    v_K_aut := substr(p_Auth_Params.MK, 128,256); // RFC 5448 cl. 3.3 K_aut to be used for computing MAC @sic R5s200400 sic@
    v_MACValue := bit2oct(substr(f_HMAC_SHA_256(v_K_aut, bit2oct(v_EncodedMsg)), 0, 128)); // @sic R5s200400 sic@
    v_MAC := cs_EAP_AT_MAC (v_MACValue);
    // Finally return the complete EAP-AKA' challenge with correct MAC
    return (bit2oct(encvalue(cs_EAP_Request_AKAChallenge (int2oct(v_Msglen, 2),
                                                          v_RAND, v_AUTN, v_KDF,
                                                          v_KDF_INPUT, v_MAC))));
  }

	


After Change:

	function f_NG_EAP_ChallengeReq(NG_NAS_SecurityParams_Type p_Auth_Params,
                                 NAS_PlmnId p_PLMN,
                                 O1_Type p_incrementID := omit /*WA#9_1_1_1*/)
    return octetstring
  {
    var template (value) EAP_AT_RAND v_RAND;
    var template (value) EAP_AT_AUTN v_AUTN;  // @sic R5s200400 sic@
    var template (value) EAP_AT_KDF v_KDF;
    var template (value) EAP_AT_KDF_INPUT v_KDF_INPUT;
    var template (value) EAP_AT_MAC v_MAC;
    var O16_Type v_MACValue := '00000000000000000000000000000000'O;
    var bitstring v_K_aut;
    var template (value) EAP_Message_Type v_EAP_Message;
    var integer v_Msglen := 8; // @sic R5s200400 sic@
    var octetstring v_NetworkName := fl_GetServingNetworkName (p_PLMN);
    var bitstring v_EncodedMsg;
    var integer v_Len;
    var integer v_Paddinglen;
    var integer i;
    v_RAND := cs_EAP_AT_RAND (bit2oct(p_Auth_Params.AuthParams.RandValue));
    v_Msglen := v_Msglen + 5*4;
    v_AUTN := cs_EAP_AT_AUTN (bit2oct(p_Auth_Params.AuthParams.AUTN));
    v_Msglen := v_Msglen + 5*4;
    v_KDF := cs_EAP_AT_KDF;
    v_Msglen := v_Msglen + 4;
    v_Len := lengthof(v_NetworkName);
    if (v_Len mod 4 > 0) {
      v_Paddinglen := 4 - v_Len mod 4;
      for (i:=0; i < v_Paddinglen; i:=i+1) {
        v_NetworkName := v_NetworkName & '00'O;
      }
    }
    v_KDF_INPUT := cs_EAP_AT_KDF_INPUT (v_NetworkName, int2oct(v_Len, 2));
    v_Msglen := v_Msglen + lengthof(v_NetworkName) + 4;
    v_MAC := cs_EAP_AT_MAC (v_MACValue);
    v_Msglen := v_Msglen + 5*4;
    // Build the message with MAC=0
    v_EAP_Message := cs_EAP_Request_AKAChallenge(int2oct(v_Msglen, 2),
                                                 v_RAND, v_AUTN, v_KDF,
                                                 v_KDF_INPUT, v_MAC);   
    // Compute MAC according to RFC 5448 cl. 3.4.2
    v_EncodedMsg := encvalue(v_EAP_Message);
    v_K_aut := substr(p_Auth_Params.MK, 128,256); // RFC 5448 cl. 3.3 K_aut to be used for computing MAC @sic R5s200400 sic@
    v_MACValue := bit2oct(substr(f_HMAC_SHA_256(v_K_aut, bit2oct(v_EncodedMsg)), 0, 128)); // @sic R5s200400 sic@
    v_MAC := cs_EAP_AT_MAC (v_MACValue);
    v_EAP_Message := cs_EAP_Request_AKAChallenge(int2oct(v_Msglen, 2),
                                                 v_RAND, v_AUTN, v_KDF,
                                                 v_KDF_INPUT, v_MAC);
    if (ispresent(p_incrementID)){ /*WA#9_1_1_1*/
    v_EAP_Message.akaChallenge_Req.id := p_incrementID;
    }
    // Finally return the complete EAP-AKA' challenge with correct MAC
    /*WA#9_1_1_1 COMMENTED OUT return (bit2oct(encvalue(cs_EAP_Request_AKAChallenge (int2oct(v_Msglen, 2),
                                                          v_RAND, v_AUTN, v_KDF,
                                                          v_KDF_INPUT, v_MAC))));*/
    return (bit2oct(encvalue(v_EAP_Message))); //WA#9_1_1_1
  }


1.3 function f_Check_EAP_SyncFailure_AuthenticationResponse
	Function name
	f_Check_EAP_SyncFailure_AuthenticationResponse

	Reason for change
	Please see change 1.1

	Summary of change
	Introduced the parameter p_incrementID and set it to OMIT by default. Passed this parameter to function f_NG_EAP_SyncFailureResponse which is called within this function.
Please see below.

	TTCN module
	NR5GC/9_1_1/Authentication_NR5GC.ttcn

	MCC160 Comment
	


Before Change:

	function f_Check_EAP_SyncFailure_AuthenticationResponse (NG_NAS_UL_Message_Type p_ReceivedMsg) return boolean
  {
    var boolean v_Result := false;
    v_Result := match (p_ReceivedMsg, cr_NG_AUTHENTICATION_RESPONSE (omit, cr_EAP_Message()));
    v_Result := f_NG_EAP_SyncFailureResponse(p_ReceivedMsg.authentication_Response.eapMessage.eapMsg);
    return v_Result;
  }

	


After Change:

	function f_Check_EAP_SyncFailure_AuthenticationResponse (NG_NAS_UL_Message_Type p_ReceivedMsg,
  













   O1_Type p_incrementID := omit /*WA#9_1_1_1*/) return boolean
  {
    var boolean v_Result := false;
    v_Result := match (p_ReceivedMsg, cr_NG_AUTHENTICATION_RESPONSE (omit, cr_EAP_Message()));
    v_Result := f_NG_EAP_SyncFailureResponse(p_ReceivedMsg.authentication_Response.eapMessage.eapMsg, p_incrementID /*WA#9_1_1_1*/);
    return v_Result;
  }


1.4 function f_NG_EAP_SyncFailureResponse
	Function name
	f_NG_EAP_SyncFailureResponse

	Reason for change
	Please see Change 1.1 and Change 1.3

	Summary of change
	Introduced the parameter p_incrementID and set it to OMIT by default. Passed this parameter to template cr_EAP_Response_SyncFailure which is called within this function.

Please see below.

	TTCN module
	NR5GC/9_1_1/Authentication_NR5GC.ttcn

	MCC160 Comment
	


Before Change:

	function f_NG_EAP_SyncFailureResponse(octetstring p_ReceivedEAP)
    return boolean
  {
    var boolean v_Result := false;
    var bitstring v_ReceivedEAP := oct2bit(p_ReceivedEAP);
    var EAP_Message_Type v_EAP_Message;
    if (decvalue(v_ReceivedEAP, v_EAP_Message) != 0) {
      FatalError(__FILE__, __LINE__, "EAP message cannot be decoded");
    }
    if (match (v_EAP_Message, cr_EAP_Response_SyncFailure(?))) {
      v_Result := true;
    }
    return v_Result;
  }

	


After Change:

	function f_NG_EAP_SyncFailureResponse(octetstring p_ReceivedEAP, O1_Type p_incrementID := omit /*WA#9_1_1_1*/)
    return boolean
  {
    var boolean v_Result := false;
    var bitstring v_ReceivedEAP := oct2bit(p_ReceivedEAP);
    var EAP_Message_Type v_EAP_Message;
    if (decvalue(v_ReceivedEAP, v_EAP_Message) != 0) {
      FatalError(__FILE__, __LINE__, "EAP message cannot be decoded");
    }
    if (match (v_EAP_Message, cr_EAP_Response_SyncFailure(?, p_incrementID/*WA#9_1_1_1*/))) {
      v_Result := true;
    }
    return v_Result;
  }


1.5 Template cr_EAP_Response_SyncFailure
	Function name
	cr_EAP_Response_SyncFailure

	Reason for change
	Please see change 1.5

	Summary of change
	Introduced the parameter p_incrementID and set it to OMIT by default

	TTCN module
	RRC_Measurement_NR5GC.ttcn

	MCC160 Comment
	


Before Change:

	function fl_TC_8_1_3_1_x_SimultaneousEvents_CommonProcedure( template(value)NR_CellPowerLevels_Type p_CellPowerLevels, boolean p_ReportOnlySINR := false) runs on NR_BASE_PTC
  {
    var PhysCellId v_PhysCellIdServing;
    var PhysCellId v_PhysCellIdNeighbour;
    //@siclog "Step 3" siclog@
    //Check: Does the UE transmit a MeasurementReport message on NR Cell 1 within the next 10s?
    f_NR_Check_NoMeasurementReport(10.0, nr_Cell1, cr_NR_MeasurementReport_Any);
    //@siclog "Step 4" siclog@
    //SS re-adjusts the cell-specific reference signal level according to row "T1".
    f_NR_SetCellPowerList(p_CellPowerLevels[1]);
    //@siclog "Step 5" siclog@
    //Check: Does the UE transmit a MeasurementReport message to report event A4 (measId 1) with the measured RSRP value for the neighbour NR Cell?
    v_PhysCellIdServing := f_NR_CellInfo_GetPhysicalCellId(nr_Cell1);
    v_PhysCellIdNeighbour := f_NR_CellInfo_GetPhysicalCellId(nr_Cell2);
    if(p_ReportOnlySINR) //@sic R5-204341 sic@
    {
        f_NR_ReceiveMeasurementReports(nr_Cell1, v_PhysCellIdServing, tsc_NR_MeasId1, 1, -, cr_NR_MeasResults_MeasResultNeighCells_NR({cr_NR_MeasResultNR_CellResults(v_PhysCellIdNeighbour, cr_NR_MeasQuantityResults_Sinr)}));
    }
    else
    {
        f_NR_ReceiveMeasurementReports(nr_Cell1, v_PhysCellIdServing, tsc_NR_MeasId1, 1, -, cr_NR_MeasResults_MeasResultNeighCells_NR({cr_NR_MeasResultNR_CellResults(v_PhysCellIdNeighbour)}));  //@sic R5-201097 sic@
   }
    f_NR_PreliminaryPass (__FILE__, __LINE__, "Step 5");
    //@siclog "Step 6" siclog@
    //The SS re-adjusts the cell-specific reference signal level according to row "T2" in Table 8.1.3.1.11.3.2-1/2.
    f_NR_SetCellPowerList(p_CellPowerLevels[2]);
    //@siclog "Step 7" siclog@
    //Check: Does the UE transmit a MeasurementReport message on NR Cell 1 to report event A3 (measId 2) with the measured RSRP and RSRQ values for NR Cell 3?
    v_PhysCellIdNeighbour := f_NR_CellInfo_GetPhysicalCellId(nr_Cell3);
    if(p_ReportOnlySINR) //@sic R5-204341 sic@
    {
        f_NR_ReceiveMeasurementReports(nr_Cell1, v_PhysCellIdServing, tsc_NR_MeasId2, 1, -, cr_NR_MeasResults_MeasResultNeighCells_NR({cr_NR_MeasResultNR_CellResults(v_PhysCellIdNeighbour, cr_NR_MeasQuantityResults_Sinr)}));
    }
    else
    {
        f_NR_ReceiveMeasurementReports(nr_Cell1, v_PhysCellIdServing, tsc_NR_MeasId2, 1, -, cr_NR_MeasResults_MeasResultNeighCells_NR({cr_NR_MeasResultNR_CellResults(v_PhysCellIdNeighbour)})); //@sic R5-201097 sic@
    }
    f_NR_PreliminaryPass (__FILE__, __LINE__, "Step 7");
  } //End of f_TC_8_1_3_1_x_CommonTestBody()

	


After Change:

	function fl_TC_8_1_3_1_x_SimultaneousEvents_CommonProcedure( template(value)NR_CellPowerLevels_Type p_CellPowerLevels, boolean p_ReportOnlySINR := false) runs on NR_BASE_PTC
  {
    var PhysCellId v_PhysCellIdServing;
    var PhysCellId v_PhysCellIdNeighbour;
    var integer v_Noc;
    v_Noc := -94;
    var template(value) NR_CellNoiseLevelList_Type v_CellListWithVNG; 
    //@siclog "Step 3" siclog@
    //Check: Does the UE transmit a MeasurementReport message on NR Cell 1 within the next 10s?
    f_NR_Check_NoMeasurementReport(10.0, nr_Cell1, cr_NR_MeasurementReport_Any);
    //@siclog "Step 4" siclog@
    //SS re-adjusts the cell-specific reference signal level according to row "T1".
    f_NR_SetCellPowerList(p_CellPowerLevels[1]);
    //@siclog "Step 5" siclog@
    //Check: Does the UE transmit a MeasurementReport message to report event A4 (measId 1) with the measured RSRP value for the neighbour NR Cell?
    v_PhysCellIdServing := f_NR_CellInfo_GetPhysicalCellId(nr_Cell1);
    v_PhysCellIdNeighbour := f_NR_CellInfo_GetPhysicalCellId(nr_Cell2);
    if(p_ReportOnlySINR) //@sic R5-204341 sic@
    {
        f_NR_ReceiveMeasurementReports(nr_Cell1, v_PhysCellIdServing, tsc_NR_MeasId1, 1, -, cr_NR_MeasResults_MeasResultNeighCells_NR({cr_NR_MeasResultNR_CellResults(v_PhysCellIdNeighbour, cr_NR_MeasQuantityResults_Sinr)}));
    }
    else
    {
        f_NR_ReceiveMeasurementReports(nr_Cell1, v_PhysCellIdServing, tsc_NR_MeasId1, 1, -, cr_NR_MeasResults_MeasResultNeighCells_NR({cr_NR_MeasResultNR_CellResults(v_PhysCellIdNeighbour)}));  //@sic R5-201097 sic@
   }
    f_NR_PreliminaryPass (__FILE__, __LINE__, "Step 5");
    //@siclog "Step 6" siclog@
    //The SS re-adjusts the cell-specific reference signal level according to row "T2" in Table 8.1.3.1.11.3.2-1/2.
    f_NR_SetCellPowerList(p_CellPowerLevels[2]);
     v_CellListWithVNG := {cs_CellNoiseLevel(nr_Cell3, v_Noc)}
     f_NR_ConfigureAndActivateVNG_MultipleCells(v_CellListWithVNG);
    //@siclog "Step 7" siclog@
    //Check: Does the UE transmit a MeasurementReport message on NR Cell 1 to report event A3 (measId 2) with the measured RSRP and RSRQ values for NR Cell 3?
    v_PhysCellIdNeighbour := f_NR_CellInfo_GetPhysicalCellId(nr_Cell3);
    if(p_ReportOnlySINR) //@sic R5-204341 sic@
    {
        f_NR_ReceiveMeasurementReports(nr_Cell1, v_PhysCellIdServing, tsc_NR_MeasId2, 1, -, cr_NR_MeasResults_MeasResultNeighCells_NR({cr_NR_MeasResultNR_CellResults(v_PhysCellIdNeighbour, cr_NR_MeasQuantityResults_Sinr)}));
    }
    else
    {
        f_NR_ReceiveMeasurementReports(nr_Cell1, v_PhysCellIdServing, tsc_NR_MeasId2, 1, -, cr_NR_MeasResults_MeasResultNeighCells_NR({cr_NR_MeasResultNR_CellResults(v_PhysCellIdNeighbour)})); //@sic R5-201097 sic@
    }
    f_NR_PreliminaryPass (__FILE__, __LINE__, "Step 7");
  } //End of f_TC_8_1_3_1_x_CommonTestBody()


